



Nome: _____

Data: _____ Punteggio: _____

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{5} \times 4^2 - \frac{1}{5} =$$

$$\left(\frac{1}{6} - \frac{3}{5}\right)^2 - \frac{2}{3}\left(\frac{3}{5} - \frac{1}{2}\right) =$$

$$\left(3 + \frac{1}{6}\right)^2 + \frac{2}{3} \times \frac{1}{6} + 4^2 =$$

$$\left(\left(\frac{2}{5}\right)^2 + \frac{1}{5}\right) \times \frac{1}{3} + \left(\frac{3}{5} - \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{4}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{4} + \frac{1}{2}\right)^2 =$$

$$\left(2 - \frac{1}{3}\right)^2 + \frac{1}{3} - 5^2 + \frac{1}{5} =$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{1}{2} + \frac{1}{3} + 3^2 =$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 + \frac{1}{2}\left(\frac{2}{5} + \left(\frac{1}{4}\right)^2\right) =$$

$$\left(4 + \frac{3}{4}\right)^2 - \frac{1}{6} + \frac{1}{3} - 4^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{3}{2}\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{3}{2}\right)^2 =$$



Nome: _____

Data: _____ Punteggio: _____

$$(5 + \frac{1}{2})^2 - \frac{1}{5} \times 4^2 - \frac{1}{5} = \frac{537}{20} = 26\frac{17}{20}$$

$$(\frac{1}{6} - \frac{3}{5})^2 - \frac{2}{3}(\frac{3}{5} - \frac{1}{2}) = \frac{109}{900}$$

$$(3 + \frac{1}{6})^2 + \frac{2}{3} \times \frac{1}{6} + 4^2 = \frac{941}{36} = 26\frac{5}{36}$$

$$((\frac{2}{5})^2 + \frac{1}{5}) \times \frac{1}{3} + (\frac{3}{5} - \frac{1}{2})^2 = \frac{13}{100}$$

$$((\frac{1}{4})^2 + \frac{2}{5}) \times \frac{1}{2} + (\frac{1}{4} + \frac{1}{2})^2 = \frac{127}{160}$$

$$(2 - \frac{1}{3})^2 + \frac{1}{3} - 5^2 + \frac{1}{5} = (-\frac{976}{45}) = (-21\frac{31}{45})$$

$$(5 - \frac{1}{2})^2 + \frac{1}{2} + \frac{1}{3} + 3^2 = \frac{361}{12} = 30\frac{1}{12}$$

$$(\frac{1}{5} - \frac{3}{2})^2 + \frac{1}{2}(\frac{2}{5} + (\frac{1}{4})^2) = \frac{1537}{800} = 1\frac{737}{800}$$

$$(4 + \frac{3}{4})^2 - \frac{1}{6} + \frac{1}{3} - 4^2 = \frac{323}{48} = 6\frac{35}{48}$$

$$((\frac{1}{2})^2 - \frac{3}{2}) \times \frac{1}{3} - (\frac{1}{2} - \frac{3}{2})^2 = (-\frac{17}{12}) = (-1\frac{5}{12})$$